R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1630\D. RWBC Drawings\TX-4230-31.dwg, TX-4230

®
83, o
Ex 2 Wwo
i} " -
oy g8 of
: e T g bk
: : c F_)' d ?—' L O
THERMA TRU DOORS 83 £33 3:
118 INDUSTRIAL DR., EDGERTON, OH 43517 > d§% Bk
3.2 g
EREER & On « ES
'3
" f‘ " s o 3 287 b
o
P rori ’ es eries 54.75" MAX. OVERALL _, 71.75" MAX. OVERALL 5 258 B
Glazed Steel Door S RAVEWOTH AR
T L AL _ | iy P xR 25
w/ or w/o Sidelites - ;
37.75" MAX. 15" —e | ——{ =15 1.5 = i
—— OVERALL —— G i
" 1] 15.5" MAX. ] 15.5" MAX, %
N on-Im pa C t FRAME WIDTH FRAME WIDTH g FRAME WIDTH 3 §
wn
L
0o~
"Il = B 1a || 2
INSWING / OUTSWING . 2 | LB
o O <« [y =8
L W = o <
T = o |2 gy
m m W 1= 2
>, 3 e 1 s
EVALUATED FOR USE IN THE STATE OF TEXAS So g9 2 |9 2
The Therma-Tru STEEL DOOR described herein complies with the 2006 International Residential e % : = X Oll X ® X L 5 x g @
Code (IRC), Sections R301 & R613 and the 2006 International Building Code (IBC), Sections E-_()- 2 o g e e © a L t@
1405.12, 1609, 1714.5, 2403 and 2404 (including Texas revisions) subject to the following conditions: ﬁl - % o g E a
1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment to base > =
material shall be beyond wall dressing or stucco. ™ 3B &
2. When used in areas requiring wind-borme debiris protection, this assembly is required to be 8 @ | L L '
protected with an impact resistant covering that complies with Section R301.2.1.2 of the i * |
IRC and Section 1609.1.2 of the IBC. o —
3. Allowable design pressure requirements must be equal to or less than the design pressure
rating shown in the design pressure chart, sheet 1 of this drawing. n
4. Conditions not covered by this drawing are subject to further engineering analysis. S
2
(]
o
TABLE OF CONTENTS
SHEET # | DESCRIPTION 37.75" x 82.12" INSWING +35.0 -40.0
1 Typical elevations, design pressures & general notes X 21.12" x 63.12" L
2 Door panel details 37.75" x 81.18" OUTSWING +40.0 -40.0 =
3 Sidelite panel details and glazing detail .
4 |Eevations 54.75" x 82.12" INSWING +35.0 -40.0 e
5 | Horizontal cross section OX or XO 21.12" x 63.12" pate: 08/16,/12
6 | Vertical cross sections 54.75" x 81.18" OUTSWING +40.0 -40.0 SCAE. N.T.S.
7 Vertical cross sections . ., DWG. BY: JK
8 |Frame anchoring 71.75" x 82.12 INSWING +35.0 -40.0 cHk. BY:  LFS
9  |Frame anchoring OXo - - 21.12" x 63.12 DRAWING NO.:
10 Bill of materials and components 71.75"x 81.18 OUTSWING +40.0 -40.0 TX—4230
sHeer _ 1 oF 10

© 2012 R.W. BUILDING CONSULTANTS INC.



Lad
LOCK BLOCK 12.5" LONG {WOOD) o« f
23 2 oy
A 125" e 2. 2
EXTERIOR - g o 4™
o
TR
= ' > dge pb
2 , >0 HE
] g S 0 g
\ ) & O 3
INTERIOR T 287 u,
HINGE STILE INTERIOR LATCH STILE P 5% 95
(WOOD) (WOOD) ¢ 5092 Bu
TOP RAIL . § g
(WOOD) £ E
1"\ HORIZONTAL CROSS SECTION | P R a8
\2/ 8
. STEEL SKIN i f
% 3 {0.019" MIN.THK.) ™\
36" DOOR 21.12" MAX. £ o 28" % -
WIDTH D.LO. ] ‘ e - =
IE> o) % P % L
I 1 o . 2 |y
o i}
EXTERIOR LITE FRAME G Eo |9 %
s 28 }ers \ Lty gy O
| B & = @ x
= = % . 2 Q
5 3 S y € -
i D L_ 7 INTERIOR EXTERICR § ét_:
o > j SR =MDV o o
Q " ~DEADBOLT: $ 1 E @ p
£ SEE TABLE ~ . ‘ . &
3 e % - 1.38
o PASSAGE LOCK: 5 = (o) INTERIOR LITE FRAME
SEE TABLE ) BTS
o
#F?P)I: }(-T]Yf]‘ ! [=—325°(vP) FOAM CORE %
 LITE FRAME [POLYURETHANE - o
1.9 PCF MIN.) 2
Iﬁl:Jl
DOOR PANEL
"Profiles” Series 0.5" GLASS BITE
5" O.A. THICK GLASS BOTTOM RALL g
1/8" TEMPERED (COMP.) .
L AR SPACE i e
"\§ &5
. \ 1/8" TEMPERED § o)
KNOB: SIGNATURE SERIES DATE: 08/16/12
KWIKSET | DEADBOLT:  SIGNATURE SERIES (780) ALUMINUM SPACER @ VERTICAL CROSS SECTION ScAE N.T.S,
KNOB. nFl SER’ES (F-I 0) #8 X .I".' /2" PPH SCREW U DWG. BY: JK
SCHLAGE : cHk. B:  LFS
DEADBOLT: "B" SERIES {B40/42) DRAWING NO.:
G2 GLAZING DETAIL
Plasfic Lip Lite Frame (BES] TX—=4230
SHEET _2 oF 10

R:\A - Projects\Project Folders\Proj 1601 - 17C0\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, 2

© 20712 R.W. BUILDING CONSULTANTS INC.



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 16S0\D. RWBC Drawings\TX-4230-31.dwg, 3

140"PANEL | .

WIDTH

6O"MAX. | |,

D.LO. l l
b

i
z
4
Fa

=

O o

Lk -

3 d 1 1

5 O

z 3

£ 0= O

8 2 F

o ~0

[

0.73"

1.7

\

STILE {WOOD)

S By
12.78" MAX.

o.C.

L.

D

S

\— #8X1-1/2

PPH SCREW
{1YP.)

. SIDELITE PANEL

‘\,\ﬁ*:\:\‘\'\.‘}'%_\ "
Sl
TOP RAIL Foig
{COMP.) S T
b ?-}q/ 2}3
EXTERIOR e S
S SO TP
Gt (2
?;‘f’:&-"n‘ E~ =~ E
/// (“fe‘ff";:'wi%
sERLTT T
ES e T
o
INTERIOR
—_— STILE {WOOD)
7“1\ HORIZONTAL CROSS SECTION
\3/
1/2" GLASS BITE —=| =—  EXTERIOR
/
SILICONE /4
1/2" MIN,
SILICONE GLASS THK.
)
{
/ 1/8" TEMPERED
/—— ARSPACE
-
1/8" TEMPERED
ALUMINUM SPACER -
#8 X 1-1/2" PPH SCREW STEEL SKIN L
(0.019" MIN, THK )
INTERIOR \
@ GLAIING DETAIL
FOAM CORE _
(POLYURETHANE - o
19P N
) 9 PCF MIN.) L
< -
= : 3
S 1.45" *' o _
o ) ! Lo -
1 i BOTTOM RAIL S =
—{ % ([COMP.) ' :
1 °Z£ } 2322229

EXTERIOR LITE FRAME
38 BTS

3A g\Tu‘STERIOR LITE FRAME

m VERTICAL CROSS SECTION

NE

Li
o
S 0
Do ol
E- u Ll 1)
£® w22
9 : M) i
i g3 &
h:ﬂ. - N~ il
Ee
c -
°§ o & 32
T o2 60
§F SxTw 929
3 5’0"! n
37 HE
4] ow
S On__ xo
@ ON = g
9 o
g @3Z
E Zmo [+ )™
9 = -
. 250
& 50Q¢ 4=
& Bea g
i;_:-g ]
2 L
5 E
2 ]
:E XK 38
3 [
[+]
o

)
I
o | EE
ES =
RS ni&)
< |3 =22
=, |3 =N
el |3 +F
= o
=6 |8 E
9 aa
.. o=
5 | Q<
3 O 1
(]
S &
' <<
o a
>
%)
)
pd
Q
v
=
Lad
[
b
<
fa
o
Z
DATE: 08/16/12
ScaLle:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4230

SHEET _3 ofF 10

© 2012 R.W. BUILDING CONSULTANTS INC.



TON] SLNYLINSNON 9NIaTing

MY 2102 3

ZGBLi—d # NOLVMISIONN 20 ILVOLILMITD SNOISIAFY
SYIINIONZ TWNOISSZI0Nd 40 Guvod SvXal SNOLYATTI AH J1vd FONJ e - O_
. ~— . K [ —
L616'6S9'CLE FON euocyd - I 2 S LT
CBSEE ™14 OSWIDA OCZ XoF 'O'd \Su@. "ATAW3SSY 40 1avd © M 1. o )
"ONI ‘SINVLINSNOD ONIAiNG YRR 4w
H00a T3S of |&|&|g X
£ZTi¥OL# "3'd SYXIL NAL=YWHIHL il el® I
T WPLUYDS 4 Wopuf 1Ag pesodeld sjuswinocg 1123Na0Nd Z % W m W wn_
mw
opo

| m

// QO

- A =

© - ™ P

T

~ <

R i

(o) s =

=== 1 e
N
V e e
__ T O T
mw

M = /fnwn/ V o //..,..W// = N M —

o @]

>

e

v >

@0 Q)

//// =

<L

M,/ 3

.D —_

////

b
LEVATION (X

2
&/
E

1 ‘BMPTE-0EZp-X L\SBUMEIT DBMY "Q\069T Jd\00LT - TOST foud\siaprod 12afoid\sidafold - wiy



CERTIFICATE OF REGISTRATION # F-~11852

BASAEAMAR

SRDARANNARARANN N,

t
L
S v
2o 14
@ EX @ U
£ 3 ;B B
e @ u g ¥} g
O i iy sdb O
£ c§ > 3
20t 2 2 8o 3
| 5 Ck EEWD =
A ] ZJgo i
\ L’:‘:‘: A a > E
’ "  /k EXTERIOR 4 zg0 §
35 & O

i 1 EXTERIOR DR
o Nofte: E 9 : § 2
1. Sidelite assembly screws located 3 et g
} &" from each end plus 4 more . L§ o
equally spaced {6 total). E @% ?5

2

Q

[=]

7
/
o

INTERIOR
INTERIOR
@ @ é SEE NQTE 1 @

2
5
=
S 3
= | g
SEE NOTE | == |38
R
/"1 "\ HORIZONTAL CROSS SECTION (2" HORIZONTAL CROSS SECTION =6 |9 S
W inswing shown - Outswing also approved W Inswing shown - Outswing also approved ; Az
5 & &
a )
¢ g -
&
EXT, SHEATHING —\ @ / EXT. SHEATHING @ / EXT. SHEATHING
‘‘‘‘‘‘‘‘‘ - . [ e A A
e LV VA ANY o ] B A A A [ A — A A ]
\\\\\ -l U)
=
O
9 7 2
(B) EXTERIOR () o
EXTERIOR &
A
- - b
T T /\ ’K T (— A <
e N INTERIOR — g
DRYWALL / (é INTERIOR - @ e DRYWALL (50 o DRYWALL e 08,/16/12
@ @ @ SEE NOTE | AL N.T.S.
DWG. BY: JK
v LFS
/ 4"\ HORIZONTAL CROSS SECTION /5 "\ HORITONTAL CROSS SECTION 3"\ HORIZONTAL CROSS SECTION SRR
W Inswing shown - Outswing also approved \y Inswing shown - Quiswing also approved w Inswing shown - Qutswing also approved TX—4230

SHEET _ 5 oF 10

R:\A - Projects\Project Folders\Proj 1601 - 1700\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, 5

© 2012 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVAINENDY ONIGTNE CMH B LDE (3

ZSOEL—d # NOILVMLSIOEY 40 31vDIdUNMED Y SNOISIAIY STV ol o
SHIEANIONT IVNOISSH40ud 40 QHVOB SvXEL SNOULD3S 55040 WOILMIA NI vl o m;
LBLE'BSS'TLE FON suoud : PSS B
GESEE —14 OSUIDA OFZ X08 ‘O°d \Sd@. TAIBW3SSY M0 Livd ©w = - N|s
ONI "SINVLINSNOD ONIGING W O E 57
4004 1331S S A RAE =
LZLHOLF T SVXIL NL—YWYIHL gidle|y w m
“I'd IPWYSS "4 uopul] :Ag peJpdedq sjuewnsog 110N00Nd 21912 5% &
..d\umw‘w
)
(NN}
—
o
n
Q 2
QO ©
© v
- | A

INTERIOR

A\

/" 3"\ VERTICAL CROSS SECTION

w Qutswing configuration

EXTERIOR
4

(®)

-
\ /— EXT. SHEATHING
k'

EXTERIOR

/ 1"\ VERTICAL CROSS SECTION
W Inswing shown - Qutswing also approved

-~
DRYWALL\-:.'--

INTERIOR

13
VERTICAL CROSS SECTION
Inswing configuration

EXTERIOR

(2
N

\\

2

INTERIOR
(40)
(D)
o CONCRETE

9 'BMPTE-0EZP-X1\sBume:Q HHMY "O\069T 4d\DOLT - T09T foid\s1ap|o4 193foad\spafog - wiy



RMA - Projects\Project Falders\Proj 1601 - 1700\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, 7

INTERIOR

SEE NOTE | @\

)

/i

L.
- .,‘ q

O\

/"2 "\ VERTICAL CROSS SECTION

w Inswing configuration

uj
e g
€3 7}
1] 1T 3§ gb  oF
— I = N~ il
: [ 'Y ﬁ z b
- it - 55 g2 32
- EXT. SHEATHING EF 2t 98
- TR / 3 g o EE
- 234
B I 53 g»
DRYWALL— | 1}, 5 8R. gg
S M I W
LI Note: § 5.2 49
' 1. Sidelite assembly screws £ 22g oy
N y o o 5
located 3" from each ® § ag
L < \@ end (2 total). € g E
®- b i
- 8
@ RO :
=
S
.//' B
INTERIOR / EXTERIOR 1° (58
o |2l &
iy |= ©
I = Ll
=6 14 2
1"\ VERTICAL CROSS SECTION " 23
\U Inswing shown - Qutswing also approved S Ex
>
ol |E
0. 0.
&
EXTERIOR
/. SEE NOTE | N\ "
5
EXTERIOR f INTERIOR %)
o WOOD g
o CONCRETE | @

X772 H
: <
£ a
= =
= & wTE: 08/16/12

SCALE: N.T.S.

o wQOOD DWG. 8Y: JK

{3\ VERTICAL CROSS SECTION (P ) CONCRETE o o LFS
w Outswing configuration TX—; 230

sHeeT 7 oF 10

© 2012 R.W. BUILDING BONSULTANTS NG,



Lf
o]
. 0
£ fu g8 g7
2 Cy 4BD e
2X FRAMING TO BE DESIGNED BY THE ENGINEER OR | e (ﬂ?? | e § 3 % 83 §g
ARCHITECT OF RECORD BASED ON WIND LOADS ' o 37 338 g%
AND THE CLADDING BEING USED. L6 ' 2ob Lh
e = T (YR . & 83, g
) v (TYP.) N e e 3 Y LY
"R H | 6“ ” (TYP.} 3" g § m- g ZO
= T Ry . —— £ 20& gu
R T ey
! T~ [ : - E 3 E
| [ 1 il [ &
. p— e o _ a
N T = //
E 3 ) E [/
) = TYP.HEAD & —=ll— °E & ( : k /.@ . %’
: I — — -
g JAMBS Y. ReeD & v 3 W= @ S
3 2X | JAMBS 1,4 <° |3 2
X FRAMING X & wl]) Y 18 |8l <
¢ 3 24 . R
A FRAMING & A P
| DOOR - —_ "~ B S | P . - : e
. FRAME TYP. 3 S
- i i i 1|
»>< O Y /4 o Fon
e ] 5
. —_ — ZG  DOOR . . - i _f HINGE DETAIL %
~0O  FRAME
8 i
& S \
' B g 9
> .\@ S
. % WRAPS &
. . AROUND
— 1l JAMB
\\‘ =
HINGE JAMB FRAME ANCHORING FRAME ANCHORING STRIKE JAMB_ v e
X OX /X0 LATCH & DEADBOLT DETAIL S
FLOOR SUBSTRATE MATERIAL FLOOR SUBSTRATE MATERIAL oaTe: 08,/16,/12
CONCRETE {MIN. 3000 PSl) CONCRETE {MIN. 3000 PSI) sE NTS.
WOOD (5.G. >= 0.42) WOOD (5.G. >=0.42} owe. BY: K
CHK. BY: LFS
DRAWING NO.:
TX—4230
SHEET _8 ofF 10

R\A - Projects\Project Folders\Proj 1601 - 1700\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, 8

© 2012 R.W. BLULDING CONSULTANTS INC.



"ON] S1NYLINSNAOTg asNtaTing

MmN ZL0Z G5

ZEeil—4 # NOUWMISIONY 40 IIVOLILNID SNOISIAZY .
SMIINIONT TYNOISSIIONd 40 O¥voa Svx3L INIMOHINY TNV AH 41va [ON Ny ol o O_
-ggeelE NS /T
SBSEE h%urmommwu‘mr”nﬂouomo:ﬂ.w“g@» AEWASSY HO Lavd mm m - 5 Q &
“ONi ‘SLNVLINSNOD ONIgINg Y NER 9_
¥000 13348 SR AR
CZI¥OLF "3'd SWXIL N¥L—VYWE3HL BEIIIE &
T'd "IPIUYCS "4 uopuky :Ag peiddeld SjUSLINDOQ 110NgoYd b4 m ] EAES =
fa
©
(=4
mw »/ z3<S
.
\ 2
\ 3
—— = o
oo ) & =" g
N ( D . - ! - A g
Moy oy - - <<
77\ 52 | [/ # 3
= o3
=
3 o
N ® ;
f———————— ST4E
W95 _.ll -
. LI C =D Em [} M
=
=
_—y
) S .
= ﬁ { &E ﬁ m ('dAl) "D'0 XYW ¥
ﬂ|||l_ I~ I _ | |
DI” =
V@W ™
+ u | | I [
] e e i s *
= _ i 3
by i
W -
=Rt B
= A o
. o 2
= Q 0O .
A~ | | | IM%W
= /
O /
o 0
L o b’ ——
Z O — 1 _ _ _ _ _ 259
On %go
z2 2 <8 A
L = / = Zz 0
ra s =
>~0n =2
n38 ke
225 289
o=z 2%
0= m oNe]
sy e N Qo
HEZ e
fa
O %A
00%
=z 0 @
=8 L =
SEE [ ; : : : 7 <
T — A N =
£0g | Or ) ) 1 ]
XEZ Favd el | Z
WS L _ JST6C |HT A TA |||||L

6 'BMP TE-0EZY-X1\SBUIMEIQ DEMY "(NDBIT Jd\DOLT - TO9T foud\saap|od 1asfoid\sizafold - v\



RMA - Projects\Project Folders\Proj 1601 - 1700\PF 1690\D. RWBC Drawings\TX-4230-31.dwg, 10

BILL OF MATERIALS
ITEM # | DESCRIPTION MATERIAL

B 2X BUCK {SG >=0.42) WOQOD
Cc 174" MAX. SHIM SPACE -

F #10 X 3" PFH WOQOD SCREW STEEL
J #10 X 2-1/2" PFH WOOD SCREW STEEL
M #10 X 2" PFH WOOD SCREW STEEL
P 1/4" PFH ELCO OR ITW CONCRETE SCREW {1-3/4" MIN. EMB.) STEEL
] JAMB - FINGER JOINTED PINE wOOD
7 WEATHERSTRIP {Long Reach by Therma-Tru) FOAM
8 SWEEP VINYL
9 WEATHERSTRIP {Medium Reach by Therma-Tru) FOAM
13 INSWING THRESHOLD ALUM/COMP
14 QUTSWING THRESHOLD ALUM/COMP
24 #10 x 1" PFH WOOD SCREW STEEL
27 LATCH STRIKE PLATE STEEL
28 DEADBOLT STRIKE PLATE STEEL
29 4" X 4" HINGE STEEL
40 DOOR PANEL -
50 SIDELITE PANEL -
65 INSWING SIDELITE ADAPTER PvC
bb QUTSWING SIDELITE ADAPTER PVC
48 2X MULLION (SG >=0.55) WOOD

CONCRETE ANCHOR NOTES:

edge distance to mortar joints.

. Concrete anchor locations at the corners may be adjusted to maintain the min.

. Concrete anchor locations nofed as "MAX. ON CENTER” must be adjusted to
maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX, ON CENTER" dimension are not exceeded.

. Concrete anchor table:

T™W

tapcon® | U4 13/ 2.1/2 3
ELCO " 11} " ”
ULTRACON®| 174 1-3/4 1 3

AN

1.25"

0.78"

SN[

NPT |

( i ) WOOD JAMB

r 179"
. SWEEP

|
( : ) WEATHERSTRIP
Long Reach

E—— 1.5" —=

5.8%

—

14 OUTSWING THRESHOLD

0.74"
1.08

( : ) WEATHERSTRIP
Medium Reach

0.08"

45 INSWING SIDEUITE
ADAPTER

212?'——‘ 3
fg [an]
& Kl

46 OQUTSWING SIDELITE
ADAPTER

Lyndon F. Schrnidt, P.E.
TEXAS P.E. #104123

P.0O. Box 230 Valrico FL. 33595
813.659.8197

BUILDING CONSULTANTS, INC.

Documants Prepored By
WPi}o.ne No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F-11852

V5]
Jwn
Do <=
A ") Ly
!Q [madr=d
< | LY
= O =
el m =
R
=08
<| I
—~ x| DO
§ o
2 &
b o
>
mn
g
z
Q
v
o
e
<C
e
o
z
oate: 08/16/12
scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—~4230

sHeetr 10 oF 10

© 2012 R.W. BUILDING CONSHLTANTS ING.



